

# Maths Worksheet



Let's solve this 

## **PRACTICE MAKES PERFECT!**

Need help with a Maths question or help with your homework? Our awesome Mathematics tutors are available online 7:30am-9pm in all Australian states, 7 days a week  
Enrol today at <https://clueylearning.com.au>



Find the distance between the points.

$(1, -3)$   $(-5, 3)$

---

---

---

---

---

---

---

---

$(-6, -3)$   $(-4, -5)$

---

---

---

---

---

---

---

---

$(-1, -3)$   $(-6, 4)$

---

---

---

---

---

---

---

---



# Answer Key

(1, -3) (-5, 3)

$$\begin{aligned}(1 - -5)^2 + (-3 - 3)^2 &= c^2 \\ 6^2 + (-6)^2 &= c^2 \\ 36 + 36 &= c^2 \\ 72 &= c^2 \\ \sqrt{72} &= c \\ 6\sqrt{2} &= c\end{aligned}$$

(-6, -3) (-4, -5)

$$\begin{aligned}(-6 - -4)^2 + (-3 - -5)^2 &= c^2 \\ (-2)^2 + 2^2 &= c^2 \\ 4 + 4 &= c^2 \\ 8 &= c^2 \\ \sqrt{8} &= c \\ 2\sqrt{2} &= c\end{aligned}$$

(-1, -3) (-6, 4)

$$\begin{aligned}(-1 - -6)^2 + (-3 - 4)^2 &= c^2 \\ 5^2 + (-7)^2 &= c^2 \\ 25 + 49 &= c^2 \\ 74 &= c^2 \\ \sqrt{74} &= c\end{aligned}$$



Find the distance between the points.

$(-1, -1)$   $(2, -3)$

---

---

---

---

---

---

---

---

$(3, 4)$   $(0, 1)$

---

---

---

---

---

---

---

---

$(-3, 2)$   $(-1, -6)$

---

---

---

---

---

---

---

---



# Answer Key

(-1, -1) (2, -3)

$$\begin{aligned}(-1 - 2)^2 + (-1 - -3)^2 &= c^2 \\(-3)^2 + 2^2 &= c^2 \\9 + 4 &= c^2 \\13 &= c^2 \\\sqrt{13} &= c\end{aligned}$$

(3, 4) (0, 1)

$$\begin{aligned}(3 - 0)^2 + (4 - 1)^2 &= c^2 \\3^2 + 3^2 &= c^2 \\9 + 9 &= c^2 \\18 &= c^2 \\\sqrt{18} &= c \\3\sqrt{2} &= c\end{aligned}$$

(-3, 2) (-1, -6)

$$\begin{aligned}(-3 - -1)^2 + (2 - -6)^2 &= c^2 \\(-2)^2 + 8^2 &= c^2 \\4 + 64 &= c^2 \\68 &= c^2 \\\sqrt{68} &= c \\2\sqrt{17} &= c\end{aligned}$$



Find the distance between the points.

$(-3, 4)$   $(3, -2)$

---

---

---

---

---

---

---

---

$(3, -4)$   $(-6, -2)$

---

---

---

---

---

---

---

---

$(-3, 1)$   $(4, -6)$

---

---

---

---

---

---

---

---



# Answer Key

(-3, 4) (3, -2)

$$\begin{aligned}(-3 - 3)^2 + (4 - -2)^2 &= c^2 \\(-6)^2 + 6^2 &= c^2 \\36 + 36 &= c^2 \\72 &= c^2 \\\sqrt{72} &= c \\6\sqrt{2} &= c\end{aligned}$$

(3, -4) (-6, -2)

$$\begin{aligned}(3 - -6)^2 + (-4 - -2)^2 &= c^2 \\9^2 + (-2)^2 &= c^2 \\81 + 4 &= c^2 \\85 &= c^2 \\\sqrt{85} &= c\end{aligned}$$

(-3, 1) (4, -6)

$$\begin{aligned}(-3 - 4)^2 + (1 - -6)^2 &= c^2 \\(-7)^2 + 7^2 &= c^2 \\49 + 49 &= c^2 \\98 &= c^2 \\\sqrt{98} &= c \\7\sqrt{2} &= c\end{aligned}$$



Find the distance between the points.

$(0, -2)$   $(-5, 2)$

---

---

---

---

---

---

---

---

$(-5, -2)$   $(-1, 2)$

---

---

---

---

---

---

---

---

$(3, -4)$   $(-6, -2)$

---

---

---

---

---

---

---

---





# Answer Key

(0, -2) (-5, 2)

$$\begin{aligned}(0 - -5)^2 + (-2 - 2)^2 &= c^2 \\ 5^2 + (-4)^2 &= c^2 \\ 25 + 16 &= c^2 \\ 41 &= c^2 \\ \sqrt{41} &= c\end{aligned}$$

(-5, -2) (-1, 2)

$$\begin{aligned}(-5 - -1)^2 + (-2 - 2)^2 &= c^2 \\ (-4)^2 + (-4)^2 &= c^2 \\ 16 + 16 &= c^2 \\ 32 &= c^2 \\ \sqrt{32} &= c \\ 4\sqrt{2} &= c\end{aligned}$$

(3, -4) (-6, -2)

$$\begin{aligned}(3 - -6)^2 + (-4 - -2)^2 &= c^2 \\ 9^2 + (-2)^2 &= c^2 \\ 81 + 4 &= c^2 \\ 85 &= c^2 \\ \sqrt{85} &= c\end{aligned}$$



# Maths = standardised Children = **unique**

**Personalised online maths tutoring that goes  
beyond practice and builds your child's  
confidence at school**

**Enrol today**



Let's solve this 